VARIIRON"

Take Control In Speed

ne 2 7 152 5k 5l 2= o

Power Transmission Technologies




NMRV Worm Gear Reducer Series NMRV Z [c 48 R 1R 5

NMRV Worm Gear Reducer

NMRV 5 [) 85 & i 17

Varitron NMRV Worm gear reducers provide market advance solution
with efficiency and flexibility. NMRV worm gear series also available

as compact integral helical/worm option, has been designed with a

view to modularity: low number of basic models can be applied to a

wide range of power ratings guaranteeing top performance and reduction

ratios from 5 to 1000.

NMRVEZE EiaEREEN - BEAMERS ISERmESRIIAIERE LB 3F MY
H—RER - HEEREENIRSERENN » 8815/  BiER  RECMERE
RRIE ~ T - XEMA - WRERRES SN - ISR RAEIERME - FE)F

2 R/ WK FEERESURE -

l Servo Motor

i NMRV RS
AT

I IK Motor

PR s

Bl GN Gear Motor
B R RIE

I GV Gear Motor
NEYERER IR

# NMRV-NMRV
Ledsdiet

 NRV-NMRV
EE IR

I NMRV
EH

[4¢

=
=
3
<
L
ot
z
5
S
o
;H
&

S1IS J3ONPaY JeaD) WO AHIN

B Variators
MmEG R

I AC Motor

I Brake Motor

Catalog H#%

IEIF”‘%EI
SLi

VARITRON® D10



NMRV Worm Gear Reducer Series NMRV B G iR R 1R S

I NMRYV construction Drawing 1BEE

[4¢

=
=
B
=
i
at
%
=14
:E’:[
i
73
}H
&

311G J9ONPaY Jea5) WO AHIN

33 .

Item Component Item Component Item Component

IBR ZHEfM IBR ZHEfM IBR ZHEM
1 Oilseal i # 14 Parallel key T # 27 Bearing ] &
2 Inner hex screw 7\ B & # 15 Housing r B2 28 Worm wheel L] L]
3 Motor Input Cover B E A NDE 16 Plug bl #E 29 Bearing i g
4  0O-ring 0 BB EH 17 Bearing af & 30 O-Ring 0 MAgBZEE
5 Bearing i & 18 Hole-Circlip R # 31 ¥ 31 Bearingsupportcover ffI =
6 NMRV-VSWorm Shaft 3.2 A 7J#i #8412 19 Seal Cap b E3) Z 32 Inner hex screw A 7% A 12 Hh
7 NMRV Worm Shaft LA EUEIE 20 Oil seal b £ 33 Oil seal piil E3)
8  NRV Worm Shaft A 73 # 4 18 21 Torquearm B | B 34 Single output Shaft B @D
9 NRV-VSWormShaft %8 A 7J#i #4 22 Hexagonbolt 7% & B8 8% 4 35 DoubleoutputShaft 2 [ & 77 &
10 Bearing & B 23 Outputflange H 71 & B 36 Parallel key Sz iz
11 O-ring 0 BB 24 Shaft-Circlip C # 31 & 37 Parallelkey S #
12 NRVInput Cover NRV A JZJE 25 Washer 2
13 Oil seal b} £ 26 Oilseal b E3)

D11 VARIIRON’



NMRV Worm Gear Reducer Series NMRV &[G iR R 1R 51

[4¢

=
=
=
3
L
ot
%
e
2
[
73
}H
A

S1IS J3ONPaY JeaD) WO AHIN

Item Component Item Component Item Component

IEBY ZHAH IEBY ZHak IEBY ZHAH
1 Oil seal b #1 8 Hexagon nuts N BB 15 Parallel key ¥ B
2 Hole-Circlip R # 3] B 9 Hexagonnuts INB I’ 8 16 Bearing By IE <
3 Shaft-Circlip C # 3] ] 10 Hexagon screw NINEE# 17  O-Ring 0 s BEIIE
4  Bearing & B 11 Bearing L] B 18 Output cover B0 ig =
5  Hollow pinion SLAZDNEEE 12 Gear X B B 19 Oilseal b H
6 Seal Cap SH E3) Z 13 Low speed shaft tH 73 B 20 Innerhexscrew NIl
7 Housing x B 14 Parallel key E i

VARITRON® D12



NMRV Worm Gear Reducer Series NMRV Z [c 886 R 1R 5

| How to order 3EZEU

¢d

Selection ¥

=2
=
o)
<
B
i
5
5
i
i
&
H
@

311G J2ONPaY JeaD) WO AN

Option 3E&L Option &g Option 3Eig
@ @ ©) @ ® ©® @
gear.fyi/nms
NMRV: Worm Gear With IEC Motor Adaptor IEERBR AT A T AR
Worm Gear NMRV-NMRV: Double Stage Worm Gear With IEC Motor Adaptor  ZEERIBERRERILMI A JI5RE
@ Model NRV: Worm Gear With Input Shaft TR AR A T D8
IEEREI T NRV-NMRV: Double Stage Worm Gear With Input Shaft SEESRERBGRAEMT A T8
PC-NMRV: Helical - Worm Gear With IEC Motor Adaptor FlEimREm R AT AR
) . 025,030,040,050,063,075,090,110,130,150
@ | Frame Size 25 Refer to Performances Table on Page D15~D18. :52EI5E D15~D18 Ei%AEER
X 5,7.5,10,15,20,25,30,40,50,60,80,100, ---
© Ratio BELL Refer to Specifications Table Page D14~D18. 5258 D14~D18 BEiRERITEER ByEEATR
Double Input Empty if non TR Refer to page D21
@ Shaft €A JJ&H 2EED21EH
L VS =
(Option EFR)
Input Motor
® Flange PAM Refer to Disposition and Combinations Table (NMRV). :52E5EEAC R (NMRV)
FD: FD Flange ARS8
Output Flange | FA:FAFlange ;5B  FE: FE Flange AR3 Direction 7518
® HERE FB:FBFlange ;A8  TA:Torque Arm H/JE (1) (Standard #£%£)  Refer to page D24
(Option 3Efg) | FC: FCFlange ;A8  OC: Output Cover H7JEH (2) SEE D24 H
=
Output Shaft AS: Single Output Shaft ES@H7I8 (1) (Standard #£#£)  Refer to page D25
@ | HIE | Double Output Shaft I @) SEED5E
(Option 3EFL)
Operation NRV,NMRV,NMRV-PC: B3 (Standard ¥&:),B6,B7,B8,V5,V6
Direction NMRV-NMRV,NRV-NMRV: AS1 (Standard #Z#),AS2,B51,8B52,VS1,VS2,PS1,PS2
fER7SE Refer to page D19. £EE D19 EH

% For INCH Size Series, contact Varitron® or your sales personal. 21FEXEHIR TEEHEER -
% Dimensions and specifications in the catalog are subject to change without notice. R U RiRIEEBEE) - 1§ RSBT&A -
% Optional Smart Monitoring System can be integrated, contact Varitron® or your sales personal. d1FENBEEEEITRT - FESHEESR.

I Model BT o
NRV

NMRV-NMRV NRV-NMRV

o8 i

D13 VARItRON®

NMRV PC-NMRV




NMRV Worm Gear Reducer Series NMRV Z [c 886 R 1R 5

HP

Frame Size PAM

Age (4P) IEC E B
NMRV025  1/8 HP 56B14 50 65 80 9
63B5 95 115 140
NMRVO30 Ul 63814 60 75 9 M
1/8 HP 56B5 80 100 120
56B14 50 65 80
71B5 110 130 160
V2 71B14 70 8 105 4
NMRV040 63B5 95 115 140
1/4HP 63B14 60 75 9 M
1/8 HP 56B5 80 100 120 -
80B5 130 165 200
1HP 80B14 80 100 120 °
71B5 110 130 160
NMRV0O50  1/2HP —— — —T
63B5 95 115 140
174HP 63B14 60 75 90 )
P 90B5 130 165 200
90B14 95 115 140
80B5 130 165 200
AL 1HP 80B14 80 100 120
71B5 110 130 160
UL 71B14 70 85 105
100B5/112 180 215 250
3HPSHP  100B14/112 110 130 160
A 90B5 130 165 200
NMRV075 90B14 95 115 140
1HP 80B5 130 165 200
80B14 80 100 120
1/2 HP 71B5 110 130 160 -
s Hp 112B5 180 215 250
112B14 110 130 160
. 100B5 180 215 250
100B14 110 130 160
NMRV090 > Hp 90B5 130 165 200
90B14 95 115 140
. 80B5 130 165 200
80B14 80 100 120
10 HP 132B5 230 265 300 -
7.5 HP 132B5 230 265 300 -
5HP 112B5 180 215 250 -
AT 3HP 100B5 180 215 250 -
2HP 90B5 130 165 200 -
1HP 80B5 130 165 200 -
10 HP 132B5 230 265 300 -
7.5 HP 132B5 230 265 300 -
NMRV130 5HP 112B5 180 215 250 -
3HP 100B5 180 215 250 -
2HP 90B5 130 165 200 -
15 HP 160B5 250 300 350 -
10 HP 132B5 230 265 300 -
NMRV150 7.5 HP 132B5 230 265 300 -
5HP 112B5 180 215 250 -
3HP 100B5 180 215 250 -

Reduction Ratio BEEE (i)

% The above Hp is for motor flange sizes, refer to selection table for accurate selection of model. Fit5ZER LI EMNY « FBIKEIRRER -

% (+) Refer to Motor-Ratio combination out of warranty terms due to service factor.

75 10 15 20 25 30 40 50 60 80 100
Input Bore A7J3L (D)
9 9 9 9 - 9 + - - - -
m 11 11 11 11 11 11 1 - - -
9 9 9 9 9 9 9 9 + - -
14 14 14 14 + + + - - - -
m 11 11 11 11 11 11 1 + +
19 19 19 + + + - - - - -
14 14 14 14 14 14 14 + + + -
- - - - - - m 11 11 N +
24 24 24 + + + - - - - -
9 19 19 19 19 19 19 + + + +
- - - - - - 14 14 14 14 +
28 28 28 - - - - - - - -
24 24 24 24 24 24 + - - - -
- - - 9 19 19 19 19 19 +
- - = S z - - 14 14 14 14
28 28 28 + + + - - - - -
28 28 28 28 28 28 - - - - -
24 24 24 24 24 24 24 + + - -
- - - - - 19 19 19 19 19 +
38 38 38 + - - - - - - -
38 38 38 38 - - - - - - -
28 28 28 28 28 28 + + + - -
28 28 28 28 28 28 28 28 28 - -
- - - - - 24 24 24 24 + +
- - - - - 19 19 19 (|19 [ 19 [ 19
38 38 38 38 + + + - - - -
33 38 38 38 38 38 + - - - -
- - - - 28 28 28 28 + + +
- - - - 28 28 28 28 28 28 -
- - - - - - - - - 24 24
42 42 42 42 + - - = = - -
- - - 38 38 + 38 + + - -
- - - 38 38 38 38 38 + - -
- - - - - - - 28 28 28 28
- - - - - - - 28 28 28 28
(PSRRI BERELE S ZEREUER 1, BEEREHEE -
VARIIRON’

¢d

=
=
=)
=<
i
ot
%
=14
5
S
o
;ﬁ
&

D14

S1IS J2ONPaY JeaD) WO AN




NMRV Worm Gear Reducer Series NMRV Z [c 886 R 1R 5

| NMRV Performances Table 1£8EZ HOX O (O
N!\XR\) PC NMRV Nl\;RV— NMRV
Output Output Service Dia. PAM Output Output Service Dia. PAM

Frame Ratio Frame Ratio

HP Radial Load Torque Factor Pg. &8 RadialLoad Torque Factor Pg. RBiEHE

=2
=
o)
<
B
i
5
5
i
i
&
H
@

311G J2ONPaY JeaD) WO AN

(W) e PR gemomn mume zefe RY  EC s PR gimees mbBE 2eB RY I
- F2(N) M2(Nm) SF E2{ Motor - Fr2 (N) M2(Nm) SF HEZ Motor
5 597 27 67 D20 50 2475 19 2 D20
7.5 683 39 46 D20 NMRV 60 2630 21 17 D20
10 752 5 36 D20 040 80 2895 26 13 D20
15 861 71 25 D20 100 3118 29 1 D20
NMRV
NMRV 20 948 9 2 D20 300 3490 88 08 D21
P 030-040
25 1021 10 2 D2 400 4840 107 12 D21
30 1085 12 17 D20 500 4840 123 1 D21
40 1194 14 12 D20 0’;‘3’_'3;’0 600 4840 159 09 D21
50 1286 17 1 D20 750 4840 185 08 D21
60 1367 19 09 D20 900 4840 212 07 D21
100 1620 338 08 D21 900 6270 200 1 D21
1/8HP4P 150 1830 49 06 D21 5685 0’;3’_'3;’3 1200 6270 263 09 D21 5685
(0.09KW) 200 1830 62 05 D21 56B14 1500 6270 305 07 D21 56B14
250 1830 66 05 D21 1500 7380 360 11 D21
300 1830 75 04 D21 oﬁg’_'g;ls 1800 7380 404 1 D21
400 1830 107 03 D21 2400 7380 4% 07 D21
500 1830 15 03 D21 3000 8180 609 09 D21
NMRV * ¢00 1830 135 02 D2I 4000 8180 548 08 D21
025-030
750 1830 151 02 D21 - ; - - -
900 1830 178 02 D21 - ; - ; -
NMRV
1200 1830 212 01 D21 040000 - ; ] - -
1500 1830 247 01 D21 - ; - ; -
1800 1830 304 01 D21 - ; ) ) -
2400 1830 340 01 D21 - ; - ; -
3000 1830 405 01 D21 - ; ) ) -
5 597 53 34 D20 75 3889 64 14 D23
7.5 683 78 23 D20 90 4132 71 15 D23
iy 1© 752 10 18 D20 'Lcazfl' 120 4548 87 11 D23
o0 15 861 14 13 D20 o0 150 4840 101 09 D23
20 948 18 1 D20 180 4840 13 07 D23
25 1021 21 1 D20 240 4840 133 06 D23
30 1085 24 08 D20 150 6270 103 17 D23
20 1824 19 2 D20 'Lcazfl' 180 6270 17 14 D23
25 1964 23 17 D20 g3 240 6270 139 1 D23
NMRV 30 2087 26 17 D2 9385 300 6270 155 08 D23
1/4HPAP 000 4o 2298 32 13 020 BB \mrv 400 6270 22 1 pn 9B
(0.18kW) 7185 63B14
50 2475 38 1 D20 g, 030063 500 6270 257 08 D21
60 2630 43 08 D20 600 7380 362 11 D21
PCO63- 75 2833 64 08 D23 oﬁg’_'g;ls 750 7380 435 09 D21
NMRV 90 3011 70 08 D23 90 7380 487 08 D21
040 120 3314 85 06 D23 NMRV 1200 8180 629 1 D21
40 3153 33 23 D20 040-090 1500 8180 735 08 D21
50 3397 39 19 D20 1800 10320 861 15 D21
N o0 3610 43 16 D20 NMRV 2400 10320 1113 1.1 D21
050
80 3973 52 12 D20 050-110 - - ] ] ]
100 4280 60 09 D20 - - ; : -
5 1149 1 3 D20 10 1987 22 33 D20
7.5 1315 16 24 D20 15 2274 31 24 D20
10 1447 21 19 D20 20 2503 40 18 D20
12HP4P NMRV 15 1657 21 13 D20 71B5 NMRV 25 2696 48 15 D20 7185
(0.37kW) 040 20 1824 39 1 D20 71B14 050 30 2865 55 15 D20 71B14
25 1964 47 08 D20 40 3153 68 11 D20
30 2087 53 08 D20 50 3397 80 09 D20
- - ; I 60 3610 89 08 D20

D15 VARItRON®



NMRV Worm Gear Reducer Series NMRV Z [c 886 R 1R 5 U
| NMRV Performances Table [fgEsR HOEN O™ O«
NMRV PC- NMRV NMRV- NMRV
Output Output Service Dia. PAM Output Output Service Dia. PAM

Frame Ratio Frame Ratio

HP s RadialLoad Torque Factor Pg. FHEHR RadialLoad Torque Factor Pg. BER

=
=
=)
=<
i
ot
%
5
5
S
o
;H
&

S1IS J2ONPaY JeaD) WO AN

Gw) o PEL gmoey wmpe mew RY EC oee PR mumees mume mefe RY I
- Fr2 (N) M2(Nm) SF EZl Motor ‘ Fr2 (N) M2(Nm) SF  EZ Motor
40 4122 71 2.1 D20 NMRV 300 7380 405 1 D21
50 4440 83 1.6 D20 040-075 400 7380 498 0.7 D21
N(,)V6I§V 60 4719 94 1.4 D20 PCO71- 180 8180 238 1.5 D23
80 5193 115 1.1 D20 NMRV 240 8180 321 1.1 D23
100 5595 129 0.9 D20 090 300 8180 371 0.9 D23
75 5083 134 1.2 D23 300 8180 402 1.5 D21
F;‘lcl\(/)|7R:/- 90 5401 148 1.4 D23 NMRV 400 8180 523 1.2 D21
1/2HP4P 063 120 5945 185 1 D23 7185 040-090 500 8180 611 0.9 D21 7185
e e m w m IR e e e
LA 80 6130 121 1.6 D20 LA 900 10320 1079 1.2 D21
075 050-110
100 6603 139 1.3 D20 1200 10320 1396 0.8 D21
75 6000 138 1.8 D23 NMRV 1500 13500 1674 1.1 D21
PCO71- 90 6375 154 19 D23 063-130 1800 13500 1887 0.9 D21
NMRV 120 7017 191 1.5 D23 1800 18000 1775 1.2 D21
075 150 7380 223 1.1 D23 022@:‘;/0 2400 18000 2141 1.2 D21
180 7380 254 0.9 D23 3000 18000 1535 0.9 D21
5 1577 23 2.7 D20 84 7054 327 1.7 D23
ey 7S 1805 34 21 D20 F;JCJSR‘\’/' 12 7764 405 12 D23
050 10 1987 44 1.6 D20 090 140 8180 483 0.9 D23
15 2274 63 1.2 D20 168 8180 543 0.7 D23
20 2503 81 0.9 D20 NMRV 80 8571 274 1.9 D20
15 2973 64 2.2 D20 110 100 9232 322 1.5 D20
NMRV 20 3272 83 1.6 D20 PCO8O- 112 9811 430 2.2 D23
063 25 3524 100 1.3 D20 NMRV 140 10320 506 1.7 D23
30 3745 114 1.4 D20 110 168 10320 580 1.3 D23
40 4122 143 1 D20 224 10320 700 0.9 D23
25 4160 102 2 D20 NMRV 300 10320 871 1.5 D21
1HP4P 30 4421 117 2 D20 80B5 050-110 400 10320 1126 1.1 D21 80B5
©.75kw) NMRV 40 4865 147 15 D20 gogia PCOSO- 224 13500 712 14 D23 gopia
075 50 5241 177 1.2 D20 N:V;I:)V 280 13500 813 1.1 D23
60 5569 200 1 D20 500 13500 1358 1.1 D21
PC080- 70 6000 280 0.9 D23 600 13500 1631 1 D21
NMRV NMRV
075 84 6375 313 1 D23 063-130 750 13500 2005 0.9 D21
50 5799 184 1.8 D20 900 13500 2283 0.8 D21
60 6163 212 1.5 D20 500 18000 1291 1.8 D21
NMRV 80 6783 258 1.1 D20 600 18000 1529 1.7 D21
090 100 7306 302 0.9 D20 0221‘:;/0 750 18000 1783 1.3 D21
- - - - D20 900 18000 2215 0.9 D21
- - - - D20 1200 18000 2680 1 D21
7.5 2359 68 1.9 D20 40 6803 319 2.2 D20
NMRV 10 2597 89 1.5 D20 NMRV 50 7328 384 1.7 D20
063 15 2973 127 1.1 D20 110 60 7787 442 14 D20
20 3272 166 0.8 D20 80 8571 548 0.9 D20
10 3065 90 2.2 D20 61.3 8298 535 1.9 D23
NMRV 15 3509 130 1.5 D20 I:\lcfagR(\)/- 73.5 9133 693 1.3 D23
SHP4P 075 20 3862 168 1.3 D20 90B5 110 98 9838 817 1.1 D23 90B5
(1.5kW) 25 4160 205 1 D20 90B14 122.5 10320 936 0.8 D23 90B14
30 4421 233 1 D20 NMRV 80 11210 557 1.5 D20
20 4273 172 2.1 D20 130 100 12076 655 1.1 D20
25 4603 210 1.6 D20 61.3 10853 542 2.6 D23
NMRV 30 4891 239 1.7 D20 PC090- 73.5 11945 693 1.9 D23
090 40 5383 307 1.2 D20 NMRV 98 12868 830 1.5 D23
50 5799 368 0.9 D20 130 122.5 13500 936 1.1 D23
60 6163 424 0.8 D20 147 13500 1149 0.8 D23

VARITRON® D16



NMRV Worm Gear Reducer Series NMRV Z [c 886 R 1R 5 /

O / . o
N .'I':'.:"_I-I 2 = -.l' | :
= | NMRV Performances Table [tBEZR HOEN O] HODE
W= NMRV PC- NMRV NMRV- NMRV
=y . Output Output Service Dia. PAM . Output Output Service Dia. PAM
%g HP F;z?me 2;?;'& RadialLoad Torque Factor Pg. BERE F?me 5;?;'& RadialLoad Torque Factor Pg. &R
CER W) e T WUEOSE RSB RERBRY  IEC e U0 WUEUSE LIPS RSB RY IEC
%E— - Fr2 (N) M2(Nm) SF EZ Motor : Fr2 (N) M2(Nm) SF  EZ Motor
2o 300 13500 1789 1 D21 150 18000 1026 23 D21
£ 400 13500 2279 07 D21 200 18000 1317 18 D21
@ 2HP4P NMRV . . . " 9085 NMRV 20 18000 1602 130 D21 oes
- - - - - 300 18000 1860 13 D21
(1.5kW) 063-130 ) ] ] _ 9014 063150 18000 2208 5 D1 90814
g g g g g 500 18000 2582 09 D21
- - - - - 600 18000 3057 09 D21
Ry 7 2785 100 1.8 D20 20 5399 255 25 D20
075 10 3065 132 15 D20 25 5816 315 22 D20
15 3509 191 1 D20 NMRV 30 6181 356 2 D20
7.5 3081 101 29 D20 110 40 6803 468 15 D20
10 3391 134 23 D20 50 7328 563 12 D20
NMRV 15 3882 194 19 D20 60 7787 648 1 D20
3HP4P 090 20 4273 252 14 D20 100B5 40 8897 468 22 D20 oo
(2.2KW) 25 4603 308 1.1 D20 100B14 NMRV 50 9584 563 1.7 D20
30 4891 351 12 D20 130 60 10185 648 14 D20
- - - - - 80 11210 816 1 D20
- - - - - 50 13103 570 25 D20
- - - - - NMRV 60 13924 657 19 D20
- - - - - 150 80 15325 816 14 D20
- - - - - 100 16508 960 1 D20
7.5 3081 184 1.6 D20 25 7607 573 16 D20
NMRV 10 3391 243 13 D20 11285 30 8084 655 16 D20
0% 15 3882 352 1 D20 112B14 Nﬂ';" 40 8897 851 12 D20
20 4273 458 0.8 D20 50 9584 1023 1 D20
Siimp 10 4285 243 25 D20 60 10185 1179 08 D20 112B5
15 4905 352 19 D20 50 13103 1037 14 D20
N:v1u(2)v 20 5399 464 14 D20 112B5 NMRV 60 13924 1195 11 D20
25 5816 573 12 D20 150 80 15325 1484 08 D20
30 6181 647 1.1 D20 - - - - -
7.5 3893 253 22 D20 20 9654 645 2 D20
NMRV 10 4285 334 1.8 D20 25 10400 788 15 D20
110 15 4905 484 14 D20 30 11051 934 13 D20
20 5399 638 1 D20 40 12163 1171 13 D20
7.5HP4P 10 5605 334 2 D20 ... NMRV 50 13103 1426 1 D20 .o
(5.5KW) 15 6416 490 1.9 D20 150 60 13924 1643 0.8 D20
NMRV 20 7062 645 14 D20 - - - - -
130 25 7607 788 12 D20 - - - - -
30 8084 900 12 D20 - - - - -
40 8897 1171 09 D20 - - - - -
7.5 3893 345 16 D20 20 9654 880 15 D20
N:V:';V 10 4285 455 13 D20 25 10400 1074 11 D20
15 4905 660 1 D20 30 11051 1274 09 D20
7.5 5092 349 21 D20 40 12163 1596 1 D20
10HP4P 10 5605 455 18 D20 ..o - - - - -
(7.5KW) 15 6416 668 14 D20 - - - - -
N:\ggv 20 7062 880 1 D20 - - - - -
25 7607 1074 09 D20 - - - - -
30 8084 1228 08 D20 NMRV - - - - -
40 8897 1596 0.7 D20 150 - . . . -
7.5 6962 512 23 D20 - - - - -
10 7663 675 1.8 D20 g g g g s
1::":\:/'; ngv 15 8771 990 13 D20 160B5 - - - - -
20 9654 1291 1 D20 - - - - -
25 10400 1576 0.8 D20 - - - - -
7.5 6962 698 17 D20 - - - - -
20HP4P NMRV
sk || 150 10 7663 921 13 D20 160B5 - - - - -
15 8771 1351 09 D20 - - - - -

D17 VARitRON®



NMRV Worm Gear Reducer Series NMRV Z [c 886 R 1R 5

| NRV Performances Table ItgEzR W&
NRY
Input Output Output Dia. Input Output  Output Dia.

Frame Ratio InputPower
Size EUELE AR

Frame Ratio InputPower

Radial Load RadialLoad Torque Pg. Size EOELE  EATER
1R

BAEOEE BHERSE @HiEE RY

Radial Load RadialLoad Torque Pg.
B\ SEEISE SRS @iaE RY

=
=
=)
=<
i
ot
E
5
5
S
o
;H
&

S1IS J2ONPaY JeaD) WO AN

B P1(kw) Fr1 (N) 2N M2(Nm) BB T PR e RN M2 (Nm) B
5 0.61 150 597 18 D2 5 1.1 250 1149 34 D2
7.5 0.41 150 683 18 D2 75 090 294 1315 40 D2
10 0.32 160 752 18 D2 10 069 331 1447 40 D2
15 0.23 169 861 18 D2 15 048 331 1657 40 D22
20 0.18 190 948 18 D2 20 037 350 1824 39 D2
';;‘)’ 25 0.18 210 1021 21 D22 NRV 25 030 350 1964 38 D2
30 0.15 210 1085 20 D22 040 30 031 350 2087 45 D2
40 0.11 210 1194 18 D2 0 023 350 2298 41 D2
50 0.09 210 1286 17 D2 50 0.8 350 2475 39 D2
60 0.08 210 1367 16 D2 60 015 350 2630 36 D22
80 0.05 210 1504 13 D2 80 0.2 350 2895 33 D2
5 20 350 1577 62 D2 100 0.09 350 3118 29 D22
7.5 16 401 1805 71 D2 75 28 500 2359 128 D2
10 12 490 1087 72 D2 10 9] 571 2597 130 D22
15 0.88 490 2274 74 D2 15 16 615 2073 140 D22
20 0.68 490 2503 73 D2 20 12 667 3272 135 D22
NRV 25 0.54 490 2696 0 D2 0 2 1.0 700 3524 130 D22
050 30 0.57 490 2865 84 D2 G 30 1.1 700 3745 160 D22
40 0.42 490 3153 76 D22 40 076 700 4122 145 D22
50 034 490 3397 73 D2 50 060 700 4440 135 D22
60 0.28 490 3610 68 D22 60 051 700 4719 130 D22
80 0.22 490 3973 65 D22 80 039 700 5193 122 D22
100 0.16 490 4280 55 D22 100 034 700 5595 118 D22
7.5 4.1 700 2785 185 D22 7.5 6.3 900 3081 200 D22
10 3.2 830 3065 195 D22 10 5.1 1082 3391 310 D22
15 23 851 3509 200 D22 15 4.1 1257 3882 360 D22
20 19 980 3862 210 D22 20 3.1 1270 4273 355 D22
25 15 980 4160 200 D22 25 24 1270 4603 340 D22
';5;’ 30 15 980 4421 230 D2 ';2(‘)' 30 26 1270 4891 410 D22
40 11 980 4865 20 D22 40 18 1270 5383 360 D22
50 0.89 980 5241 210 D22 50 14 1270 5799 340 D22
60 175 980 5569 200 D22 60 1.1 1270 6163 320 D22
80 0.58 980 6130 190 D22 80 083 1270 6783 285 D22
100 0.48 980 6603 180 D22 100 067 1270 7306 270 D22
7.5 12,0 1200 3893 550 D22 75 161 1500 5002 750 D22
10 9.8 1463 4285 508 D22 10 135 1845 5605 820 D22
15 7.5 1604 4905 656 D22 15 103 2070 6416 920 D22
20 5.6 1700 5399 644 D22 20 7.8 2100 7062 910 D22
25 47 1700 5816 679 D22 25 6.5 2100 7607 930 D22
'm’ 30 45 1700 6181 725 D22 ';‘;‘,’ 30 6.4 2100 8084 1040 D22
40 33 1700 6803 702 D22 40 49 2100 8897 1050 D22
50 26 1700 7328 660 D22 50 38 2100 9584 980 D22
60 2.1 1700 7787 616 D22 60 3.1 2100 10185 900 D22
80 14 1700 8571 515 D22 80 23 2100 11210 840 D22
100 1.1 1700 9232 483 D22 00 17 2100 12076 740 D22
7.5 25.8 1950 6962 1200 D22 - - ; ; e
10 202 2267 7663 1240 D22 - - ; ; -
15 13.9 2285 8771 1250 D22 - - ; - e
20 1.1 2674 9654 1300 D22 - - ; ; -
25 8.4 2800 10400 1200 D22 - - - - I
T;‘)’ 30 7.1 2800 11051 1200 D22 - - ; ; -
40 73 2800 12163 1550 D22 - - ; : e
50 5.4 2800 13103 1400 D22 - - ; ; -
60 42 2800 13924 1260 D22 - - ; : I
80 3.1 2800 15325 1150 D22 - - ; ; -
100 23 2800 16508 1000 D22 - - ; ; e

VARITRON® D18



NMRV Worm Gear Reducer Series NMRV Z [c1 886 R 1R 5

¢d

=
=
o)
<
b
o}
%
=
Si
o
}H
A

S31I9S J9ONPaY JeaD) WO AHIN

l PC-NMRV

vs1
B Terminal box EIERS

[}

N

.. 3

1

| =
o

It}

D19 VARIIRON’ 3



NMRV Worm Gear Reducer Series NMRV Z [c 48 R 1R 5
NMRV worm Gear With IEC Motor Adaptor EEIMRERREM KA JIHREAR
Dimensions NEIR T

¢d

=
=
=)
<
L
o
%
b
M
i
23
;H
g

S1IS J3ONP3Y JeaD) WO AHIN

o |
|
_ e f/f;
il = E — Gl —He |\
) T, I PP
i | i L il |
| & =T s
:'/) | \-\--F “1 Iﬂ == ; \ =
4 L-:ilk};\j;r—{qq..- a 1 L

K
\// i L
[=]iy=

gear.fyi/nmr

Output Bore 17330

Frame
Size A G H I K KE L M N N O P Q R S V. W kg
RugE D t b T Gi1
NMRV025 45 45 35 25 34 6.5(3) 42 55 45225 6 - 335 48 5 2251000 11 12.8 4 16 50 0.7

NMRV030 54 55 40 30 44 M6x11(4) 56 65 55 29 65 75 44 57 55 27 0 14 16.3 5 21 63 1.2
NMRV040 70 70 50 40 60 M6x10(4) 71 75 60 36.5 65 87 55 715 6.5 35 45 18(19)20.8(21.8) 6 26 78 2.3
NMRVO50 80 80 60 50 70 M8x10(4) 85 85 70 435 85 100 64 84 7 40 45 25(24)283(27.3) 8 30 92 35
NMRV063 100 95 72 63 85 M8x14(8) 103 95 80 53 85 110 80 102 8 50 45 25(28)28.3(313) 8 36 1126.2
NMRVO75 1201125 86 75 90 M8x14(8) 112 115 95 57 11.5140 93 119 10 60 45 28(35)31.3(38.3) 8(10) 40 120 9
NMRV090 140 129.5 103 90 100 M10x18(8) 130 130 110 67 13 160 102 135 11 70 45 35(38)38.3(41.3) 10 45 140 13
NMRV110 170 160 127.5110 115 M10x18(8) 144 165 130 74 14 200 125 167.5145 85 45 42 453 12 50 155 35
NMRV130 200 180 147.5 130 120 M12x21(8) 155 215 180 81 16 250 140 187.515.5 100 45 45 48.8 14 60 170 48
NMRV150 240 210 170 150 145 M12x21(8) 185 215 180 96 18 250 180 230 18 120 45° 50 53.8 14 72.5200 84

% () Custom Size. ETSRIE
% kg: Weight not include motor. 28 (FZ5EE)

IEC Pam Motor Flange [HiEHE
Dimensions NEIRTFK

B5 Flange i£#  B14 Flange A% InputBore A7l
IEC
Pm Mm Nm Pm Mm Nm Dm bm tm

056 120 100 80 80 65 50 9 3 10.4

o 1 | 063 140 115 95 90 75 60 11 4 128
' Eié £ E 071 160 130 110 105 8 70 14 5 163
J 1 080 200 165 130 120 100 8 19 6 218
o 1| 090 200 165 130 140 115 95 24 8 273

100 250 215 180 160 130 110 28 8 313

112 250 215 180 160 130 110 28 8 313

132 300 265 230 200 165 130 38 10 413

160 350 300 250 - - - 42 12 453
VARITRON® D20



NMRV Worm Gear Reducer Series NMRV Z [c 48 R 1R 5
NMRV-NMRYV Double Stage Worm Gear With IEC Motor Adaptor SEEZBiI A JJi5REA

[4¢

Dimensions NEIR Y&

=
=
=
3
i
ot
%
=
i
73
}H
i

S31I9S J9ONPaY JeaD) WO AHIN

ES
geEar.fyi/_nmc
Frame Size

HgE A B G1 H I R H2 12 N2 R2 Z kg
NMRV025-030 70 45 63 40 30 57 35 25 225 48 100 1.9
NMRV025-040 70 45 78 50 40 71.5 35 25 225 48 115 3
NMRV030-040 80 55 78 50 40 71.5 40 30 29 57 122 35
NMRV030-050 80 55 92 60 50 84 40 30 29 57 132 4.7
NMRV030-063 80 55 112 72 63 102 40 30 29 57 145 7.4
NMRV040-075 100 70 120 86 75 119 50 40 36.5 71.5 167.5 11.3
NMRV040-090 100 70 140 103 920 135 50 40 36.5 71.5 184.5 153
NMRV050-105 120 80 155 127.5 110 167.5 60 50 435 84 226 24.5
NMRV050-110 120 80 155 127.5 110 167.5 60 50 435 84 226 38.5
NMRV063-130 144 95 170 147.5 130 187.5 72 63 53 102 245 54.2
NMRV063-150 144 95 200 170 150 230 72 63 53 102 275 90.2

% For more detailed dimensions refer to NMRV Dimension (Page D20). EE#IR Yi5£2% NMRV RYE(D20 B) -
# kg Weight not include motor. E8& (REH5E) °

D21 VARIIRON’



NMRV Worm Gear Reducer Series NMRV B [Bi3EF BRI R Y
NRV Worm Gear With Input Shaft B AJJ##E
Dimensions NEIR Y&

¢d

=
=
=)
<
L
o
%
b
i
23
;H
g

S1IS J3ONP3Y JeaD) WO AHIN

cAD R Y
Of
O}

gear.fyi/nre

Frame Size

AR B D1 G2 G3 | b1 f1 t1
NRV025 20 9 38 37 25 3 - 10.2
NRV030 20 9 51 45 30 3 = 10.2
NRV040 23 1 60 53 40 4 - 125
NRV050 30 14 74 64 50 5 Mé 16
NRV063 40 19 90 75 63 6 M6 215
NRV075 50 24 105 90 75 8 M8 27
NRV090 50 24 125 108 90 8 M8 27
NRV105 60 28 142 135 110 8 M10 31
NRV110 60 28 142 135 110 8 M10 31
NRV130 80 30 162 155 130 8 M10 33
NRV150 80 35 195 175 150 10 M12 38

NRV-NMRYV Double Stage Worm Gear With Input Shaft SEEZHI A JJsHE
Dimensions AR YT

1
n

|

L©d_

=IH

= |
E 7

== &)k ol
N S

H

p—

f

-
===

=
S— s I gear.fyi/nrm
Frame Size
. B D1 G2 | b1 f1 t1
NRV030-040 20 9 51 10 3 - 10.2
NRV030-050 20 9 51 20 3 - 10.2
NRV030-063 20 9 51 33 3 - 10.2
NRV040-075 23 11 60 35 4 - 12.5
NRV040-090 23 11 60 50 4 - 12.5
NRV050-105 30 14 74 60 5 M6 16
NRV050-110 30 14 74 60 5 M6 16
NRV063-130 40 19 90 67 6 M6 21.5
NRV063-150 40 19 90 87 6 M6 21.5
% For more detailed dimensions refer to NMRV Dimension (PageD20). EE3##IR Yi5£% NMRV RYE(D20 B) -

VARITRON® D22



NMRV Worm Gear Reducer Series NMRV B [Bi3EF BRI R Y
PC-NMRYV Helical - Worm Gear With IEC Motor Adaptor $}&5#Hi A JJ5RE
Dimensions NBIRY K

[4¢

The PC construction is modular and therefore it can be supplied PC EHES BB T (SR NESR - B T T @R

as separate unit to be mounted on any type of fitted geared SWMERES . HSERE  REARNEE/EEHTNZE
motor (PAM). In this connection, the various possibilities of 554 o5 g -

flange/output shafts can be found on page D24~D25.

=
=
S
<
i}
ot
%
5
S
o
;K{
&i

HIBBREETEESHARZRLIR B14 IFEREE -
Fitting the pre-stage helical module on the main reduction unit ~ EZERENEEEBER - REEEBEREECEER -
is easily done as for any motor of type B14.
The Pre-stage unit cannot be used by itself, but only coupled LREES
with another reduction unit. iSRS ENR
EIN#§ 20CrMnTi RIEWEL 65 - BB EFIRER o

S31I9S J9ONPaY JeaD) WO AHIN

I Materials

Case in aluminium alloy.

Gears in case hardened, tempered steel 20CrMnTi accurately
ground on the involute.

G
G2
&
uj_ i
S
N i o o g ¢
-,n:— __/._:T'_‘._\,__ b 13 T he 3 .
AERN %_;.}“ 7 . -. o
ey \&:y T 1 2
-
L E I 9 Y B S cAp R Y
it 1
St 2N f [=] 32k [=
| i H
_j' L1 E
gear.fyi/pcc-
. Output Bore H7730
F’amu‘is'zeAEeezH||2LL1K KE M NN OP QR S VW kg
BI5R Dt b T GI
o063 040 70 147 167 120 50 40 43 140 71 60 M6x104) 75 60 365 65 8 55 715 65 35 45 18 08 6 26 78 34
- 050 8 168 187 140 60 50 43 140 85 70 M8x10(4) 8 70 435 85 100 64 8 7 40 45 25 283 8 30 R 46
NMRV
063 100 192 214 167 72 63 43 140 103 85 M8x14(8) % 8 53 85 110 80 102 8 50 45° 25 283 8 36 112 73
050 8 1775 200 140 60 50 54 160 85 70 M8x10(4) 8 70 435 85 100 64 8 7 40 45 25 283 8 30 9 53
PCO71 063 100 2025 227 167 72 63 54 160 103 85 M8x14(8) 95 8 53 85 110 80 102 8 50 45 25 283 8 36 112 80
NMRy 075 120 2285 2585 1985 8 75 54 160 112 90 M8x14(8) 115 %5 57 115140 B 119 10 60 45° 28 313 8 40 120 108
090 140 2605 2925 2325 103 90 54 160 130 100 M10x18(8) 130 110 67 13 160 102 135 11 70 45° 35 383 10 45 140 148
pcogo 075 120 241 2755 185 86 75 6 200 112 90 M8x14(8) 115 %5 57 115140 B3 119 10 60 45' 28 313 8 40 120 127
/090 140 273 3095 2325 103 9 6 200 130 100 M10x18(8) 130 110 67 13 160 102 135 11 70 45° 35 383 10 45 140 167
PC090
. 110 170 3175 3645 2875 1275 110 66 200 144 115 M10x18(8) 165 130 74 14 200 125 1675 145 85 45° 42 453 12 50 155 387
NMRV" 130 200 3575 4045 3275 1475 130 €6 200 155 120 M12x21(8) 215 180 81 16 250 140 1875 155 100 45° 45 488 14 60 170 547

% kg: Motor weight is notincluded. EEFRSHE -
combinations A& 75T\
gear.fyi/pcn

More possible combinations.

$HEHINEESE QR code REH
D23 VARIIRON’



NMRV Worm Gear Reducer Series NMRV Z [c 48 R 1R 5

Output Flange H7IERE
Dimensions NEIR YK

O
N

Direction /5@

uLF]

B

AN

&
i

6 YO BE BRI E AJWN

S1IS J3ONP3Y JeaD) WO AHIN

R
2

&

I Fig.B1

©

[=]
[=]

gear.fyi/fab

Fra%‘;ﬁs'ze 025 030 040 050 063 075 090 110 130 150
KA 45 54.5 67 90 82 11 11 131 140 155
KB 6 6 7 9 10 13 13 15 15 15
KC 3 4 4 5 6 6 6 6 6 6
KN 40 50 60 70 115 130 152 170 180 180
A KM 55 68 75 85 150 165 175 230 255 255
KO  65(N°4) 65(N°4) O(N°4) 11(N° 4) 11(N° 4) 14(N° 4) 14(N° 4) 14(N° 8) 16(N° 8) 16(N° 8)
KP 75 80 110 125 180 200 210 280 320 320
KQ 70 70 95 110 142 170 200 260 290 290
KW 45° 45° 45° 45° 45° 45° 45° 45° 225° 225°
Fig. B 1 1 1 1 1 1 1 1 1 1
KA - - 97 120 112 90 122 180 - -
KB - - 7 9 10 13 18 15 - -
KC - - 4 5 6 6 6 6 - -
KN - - 60 70 15 110 180 170 - -
kB KM - - 75 85 150 130 215 230 ; -
KO - - ON° 4) T1(N° 4) 11(N° 4) 14(N° 4) 14(N° 4) 14(N° 8) - -
KP - - 110 125 180 160 250 280 - -
KQ - - 95 110 142 - - 260 - -
KW - - 45° 45° 45° 45° 45° 45° ) -
Fig.H - - 1 1 1 3 2 1 - -
KA ; - 80 89 98 - 110 - ; -
KB - - 9 10 10 - 17 - - -
KC - - 5 5 5 - 6 - ) )
KN - - 95 110 130 - 130 - - -
FC KM - - 115 130 165 - 165 - - -
KO - - 95(N° 4) 9.5(N° 4) 11(N° 4) - 11N 4) - - -
KP - - 140 160 200 - 200 - - -
KW - - 45° 45° 45° - 45° - - -
Fig.H - ; 2 2 2 - 3 ) - -
KA - - 58 72 107 - 151 - - -
KB - - 12 145 10 - 13 ; ; -
KC - - 5 5 5 - 6 - - -
KN - - 80 95 130 - 152 ; ; -
FD KM - - 100 115 165 - 175 . - -
KO - - ON° 4) T1(N° 4) 11(N° 4) - 14(N° 4) - - -
KP - - 120 140 200 - 210 - - -
KW - - 45° 45° 45° - 45° - - -
Fig. B - - 2 g 2 - 1 - - -
KA - - - - 80.5 - - ; ; )
KB - - - . 16.5 - - - - -
KC - - - - 5 - - - - -
KN - - - - 110 - - - - -
FE KM ; - - - 130 - - - ; -
KO - - . - 11(N° 4) - - - - -
KP - - - - 160 - - - - )
KW - - - . 45° - - - - -
Fig.® - - - - 3 - - - -

VARITRON® D24



NMRV Worm Gear Reducer Series NMRV Z [c 48 R 1R 5
O
il Output Shaft 708
= . .
Et Dimensions NEIR T
i
g 1AS Direction 75/ i1AB Direction 75
£ (Option’He) — (Option &)
E -
=
7.3
}H
g

S31I9S J9ONPaY JeaD) WO AHIN

P
]
=
gear.fyi/-nas
Frame Size
- d B B1 G1 L L1 f b1 t1
1196 23 25.5 81 4 125
s 9) (25) (30) 30 (85.5) 101 ) 3) (10.2)
030 14h6 30 32,5 63 102 128 M6 5 16
040 18h6 40 43 78 128 164 M6 6 20.5
050 25h6 50 53.5 92 153 199 M10 8 28
063 25h6 50 53.5 112 173 219 M10 8 28
075 28h6 60 63.5 120 192 247 M10 8 31
090 35h6 80 84.5 140 234 309 M12 10 38
105 42h6 80 84.5 155 249 324 M16 12 45
110 42h6 80 84.5 155 249 324 M16 12 45
130 45h6 80 85 170 265 340 M16 14 485
150 50h6 82 87 200 297 374 M16 14 535

% () Custom Size. ETBIRIE
Output Cover / Torque Arm Dimensions HJEIE/IBNBER YR
Dimensions AER TR

I OC: Output Cover H/JEHE I TA: Torque Arm BB Direction 75/
; (2)

M2

gear.fyi/nta

Frame Size

mEE K1 G KG KH R N2
025 70 14 17.5 8 15 -
030 85 14 24 8 15 42
040 100 14 315 10 18 50
050 100 14 38.5 10 18 57.5
063 150 14 49 10 18 68.5
075 200 25 47.5 20 30 73.5
090 200 25 57.5 20 30 85.5
105 250 30 62 25 35 94
110 250 30 62 25 35 94
130 250 30 69 25 35 102
150 250 30 84 25 35 117

D25 VARIIRON’



POWER TRANSMISSION

INDEX

Page
H VM VX A01~A82
Cycloidal Drive
Reducer
EREINCIN
i Pg.A55 Pg.A61 Pg.A64 Pg.A72
Page
A83~A84
RV Precision
Cycloidal Gear
e B AR EOERE
Page
DGT B01~B39
Precision Planetary
Gearbox
TRB1TERRE Pg.B10
DN
L=
Pg.B22 *
RAH-F
Pg.B34
Page

VF HS

Planetary Gear

Reducer
355 22 TR M

Vs B40~B51
Pg.BW‘

#All dimensions in the catalog are in mm units. BEfAR Y REMIRmm o

Pg.B48 Pg.B49




VARITRON"

Take Control In Speed

Page
GHM . GHD < GVM Yo S (01~C10
Compact Helical Gear \ ‘ ‘
Motor Reducers
FU g i S s
B ERR Pg.C06 Pg.C07 Pg.CO8 Pg.C09 Pg.C10
Page
C2 AM ADH AMV _ ADV C11~C16
Helical Gear Motor -
Reducers
ERERIBR I Pg. Pg.C15 Pg.C16
Page
K-AM KAB-AM KA-AM KAF-AM KF-AM C18~C21

SEW Type
Gear Reducer

BRR e EmiBLE

Pg.C18 I' Pg.C18 l'

@

SY S-AM SA-AM SAF-AM SF-AM S-AD
Pg.C19 . Pg.C19 . Pg.C19 Pg.C19 Pg.C19 Pg.C19
R-Y R-AM RF-AM R-AD ¢ RF-AD

«

Pg.C20 Pg.C20
F-Y FA-AM FAF-AM F-AD
Pg. l Pg.C21 Pg.C21 Pg.C21
Page
(22~C23

Industrial Helical

Bevel Gearbox

’r

ERIRTE

&

#All dimensions in the catalog are in mm units. BifIR Y REMAmm ©



POWER TRANSMISSION

INDEX

NHV

NMHV Hypoid-Helical
Gear Reducer

B[R he EaEmiBE

Pg.D09

NMRV-NMRV.

NMRV Worm
Gear Reducer

EAEILGEYERE

. HMW
Worm Gear 1
Speed Reducer | _ g
LY EPE Z = Pg.D34

Low

Pg.D Pg.D39

g

umMmw W ! ™W

Pg.D44 Pg.D45

VOFM LH i LHM

Cl

Pg.D47 Pg.D48

'

Pg.D50 Pg.D51

VHM

Page

D01~D09

Page

D10~D25

NRV

-NMRV
Pg.DZZI’ '

Pg.D36

PC-NMRV

HOW

VOM uw

= 10 A .

Pg.DA1 Pg.D42 Pg.D43

TOW H TOM -VOF

" Pg.D46 Pg.D46 Pg.D47

LOH ‘ LOHM ‘ I
9

Pg.D4 Pg.D49 D50

VH

v

-

Pg.D52 Pg.D52

VOHM

§

# All dimensions in the catalog are in mm units. BEfIR Y REAIAmm -



VARITRON"

Take Control In Speed

Page
AV AHM E01~E08
Disco Speed
Variator
T ELv4ES
REERH Pg.E07 Pg.E07
Page
E2 APH HV E09~E10
Belt Stepless Variable
Speed Drive
M*ﬁ:
Page
E3 LM E4 PIV-H AT E12~E14
Five Steps Buffered PIV Chain Variable
Speed Changer Speed Drive
1 gm  — uggs ST (ST EDVAEA
TR EE TR Pg.ET1 BRIFARE BRI Pg.E13 Pg.E13
Page
FO1~F03
Spiral Bevel
Gear Box
+ SO
Page
FO5~F07
Spiral Screw
Rod Actuators
URAR T B
Page
G AEEH/AEEP/A'EES AEVH/AEVP/AEVS AEEH-ALB3 AEVH-ALB5 AEVH-ALB14 601”610
*
Motor
EE 3
RAERSE Pg.G06 Pg.G07 Pg.G09
Page
H HHM Lcv GW Cs/CSS HMB SC/SCB H01~H10
Agitator 'ﬂ f é ‘ i
ixer : ‘ iF
;a VALY =3 | R,
RIFH Pg.HO5 Pg.HO6 Pg.HO7 Pg.HO8 % Pg.HO9 Pg.H10

#All dimensions in the catalog are in mm units. BifIR Y REIAmm ©



VARITRON® Total Solution for Transmission Units

E O UHIREEDE AR TS

Field and Maintenance Services
RIS EEARTS

Installation IRiFZEE

Commissioning IR E

Inspection &

Preventive Maintenance FaF5IEHU#E
Corrective Maintenance &SIt E
Special investigation $§BI58 &

VARIIRON’

SERVICES AR5

Repair Services Diagnostic Services

HEIZAR TS SZERARFS
@ Repair analysis Online diagnostic Services
IO FEARBOBNARTS
@ Standard repair Remote Diagnostic Services(iVaritron)
i3 SR i g
General overhaul Artificial intelligence equipment monitoring
g and management system(iVaritron)

AT EERREREERR

Training Services

HEAIR

Support and Consulting Services
ZEBMEBARTS
Technical support 17571 @

Spare Parts Services

EHRIHFARTS

@ Asset optimization services
mmELES

@ Spare parts and repair packages
EHEHEEE

Spare parts on demand

FHRNERTER

Retrofit and Modernization Services
SGEM BT ARTS

® Modification of parameters

BB EFRE

@ One-to-one replacement of a state-of-the
art product

PETEER

® Replacement of a legacy product with a
state-of the-art product

NIREERT




MADE IN TAIWAN

Service perfection, Quality superiority, Research and Development are the core enterprise spirits of
VARITRON since 1971. Responding to both domestic customers and international market demands,
we never stop to make innovation for gearbox function, efficiency and quality improvement,
accompany with accurate and in-time after service. To improve quality control, VARITRON has been
certified with ISO9001 since 2008.

Varitron wide power transmission product line including Cycloidal Drive, Precision Planetary
Gearbox, Helical Gearmotor, Planetary Gear Reducers, Worm Gearbox, Variator and Induction Motor
provides different industries sectors including CNC Machineries, Semi-conductor, Chemical, Steel
Industries, Factory facilities, Automation Machineries, robo-tic arm With Varitron strong mechanical
engineering team, Varitron provides customizes transmission gearbox and many newly innovated
pattern products.

Service

Towards Varitron’s Half-century, we serve more than 40 countries. VARITRON has more than 10
service points in cooperation with regional agents globally to timely assist our customers not only for
hardware, like parts and maintenance, but also for software, like design consultant

Quality

Quality Perfection is Varitron’s core value, new machinery and quality check equipment is deploy in
the manufacturing. Minimum 30 quality check point is done from raw material to final gearbox.
In-house testing laboratory, 1ISO9001 and ISO14001 quality control system to ensure every gearbox
meets perfection.

Innovation

Our specialized R&D teams constantly developing new gearbox, gear motor and motors for
effectively fabricating transmission products, and working to improve machine quality. VARITRON
never stops doing market surveys and attending international exhibitions. With decades of knowledge
accumulated about market information and changes in machineries trends, we can provide the most
valuable information to our clients and assist our clients in industrial upgrading.



VARITRON’

Take Control In Speed

"B, TREL -~ "I, BPEEERTEROGERARB1IMERILUK-—ERE
A ORETE o BEEER ST LR TIEEK - BFITEERE RAERBIRTHEERLE
RV - A HACHNENT - BN —RBIAEEHE T MRS AERESNITIER
ENLEE R -

RAAREEZHEEIERS T SRR EEN « BERITEREN « EimRR - i
ETVRIEN « IRERECEE « EEEEN  BHRRIIFE HIXA LNEREEBE TR
EE - ECNCEENE ~ ITIKARRIERE SR - TR  FERRIACTIHFF - - hTRE
BERRIAFEESEX  HAREHERERMN > AEFESITE—EBNECHER  AEF
BEESAHARAIRE

BB B SHAERZM - TERNENER  FAEEATENEN/RBRE - 7
REBRAARINR S RERMAEPIEAML o

AR5
AR - HFIREFEEE40EESR - BREBINIZREANNVEFERFIER
BB T ke - HFISEBIMERSERR - RIHEE P E AR ERIBRTS o

mE

ReRENBEERMRERNES  UALARSERAE « &TENRMRES £
ENSRERLEFEH 2 AEAFEE0EL EASERREF - RfIFZ2E8REENEERE
 REERREMER - WWEIEEIS09001 K1S014001AYER:E - MREEHMENAEHER
MK > BHARFIEIEERNBRE - "RESHRERELAEMNER, @ AERIEK
EERE—D -

i

RARIRFEBKEITEE « MBS - TERRZZEAT ~ SR - 1557
I ERIFRTHE(FEE « B © e RN - EBIRBUNSF N+ SERZK) - ElskegisTh
EIESR AT R SRS EIFT LR ©



s PEIEE T 2R BIRA A

Varitron Engineering (Taiwan) Co., Ltd.

SEFILHARERBE—R1718455%
No.45, Ln.171, Sec.1, Zhongxing Rd.,
Wugu Dist., New Taipei City, Taiwan
TEL:+886-2-2988-9598
FAX:+886-2-2985-0998
EMAIL:sales@c-var.com




